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- Mike says, “45% is bigger than 2.

Explain why he is correct.

See mark scheme
for examples

10

The numbers in this sequence increase by
194 each time.

Write in the missing numbers.

262

456

650

844

1,038

1mark

2 marks

. Asquare has a side length of 8cm.

Arectangle has one side that is 3cm and

the other that is 8cm.

What is the difference in area between the

two shapes?

40

cm?

1mark
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same weight.

He balances them on the scales.

500g

2508
200g

1kg

How much does each of Max’s blocks weigh?

Don’t forget to add units.

310g

2marks

R | Answers _

- Max has five blocks. Each one has the . Masie says, “15,684 is a prime number.”

Masie is incorrect.

Explain why Masie is incorrect.

See mark scheme
for examples

1mark

Place these fractions in order, starting with
the smallest.

42 413 105 65

5 15 25 15

105 a 2 65 a 13
25 5 15 15
smallest

1mark
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- Chirag counted how many different aged . Here is part of a number line.

people rode on his ride at the fairground:

% of the people were aged under 8. Write the missing numbers in the boxes.

% of the people were aged between +23 +10

gand 12. l/\l/—\]
=31 -8 2

27 people were aged over 12.

How many people rode on Chirag’s ride
all together?

777777777777777777777777777777777777777777777777 ) . Thereis % of a chocolate bar left.
: Kieron and Liam eat the remaining
chocolate between them.

2marks

What fraction of the whole chocolate bar
did they eat each?

1mark

72 people

2 marks
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Each number in this sequence is three . Chen chooses a prime number.

times the number before it. He multiplies it by 10 and then rounds

P— it to the nearest hundred.
Complete the missing numbers.

His answer is 400.

Write all the possible prime numbers Chen
could have chosen.

37,41,43

98 | 294 882 [2,646(7,938 ™

Place these fractions in order, starting with

the smallest.
2 marks
2 2 15 2 7 10
3 6 9 3
16 2 2 2 7 10
6 3 9 3

smallest

1mark
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- Place these fractions in order, starting with . Nina took 274 hours to cycle from Lands
the smallest. End to John o’ Groats.

Mike took 11.5 days to cycle from Lands End
to John o’ Groats.

They set off at the same time.

Who arrived at John o’ Groats first?

smallest

1mark

. Class 6 pupils have sold friendship
bracelets for charity.

For each bracelet sold, 54p goes to charity.

They have raised £46.98 for charity.

How many bracelets have they sold?

1mark

2marks
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- Mike says, “45% is bigger than A

Explain why he is correct.

The numbers in this sequence increase by

194 each time.

10

Write in the missing numbers.

456

844

1mark

2 marks

- Asquare has a side length of 8cm.

Arectangle has one side that is 3cm and
the other that is 8cm.

What is the difference in area between the
two shapes?

cm?

1mark
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- Max has five blocks. Each one has the . Masie says, “15,684 is a prime number.”
same weight. Masie is incorrect.

He balances them on the scales. N L.
Explain why Masie is incorrect.

500g.
2508 -
200g.
How much does each of Max’s blocks weigh? 1mark
Don’t forget to add units. - Place these fractions in order, starting with

the smallest.

42 4‘l3 105 65

5 15 25 15

smallest

2marks 1mark
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- Chirag counted how many different aged . Here is part of a number line.

people rode on his ride at the fairground:

% of the people were aged under 8. Write the missing numbers in the boxes.

% of the people were aged between +23 +10

gand 12. NN

27 people were aged over 12.

e
How many people rode on Chirag’s ride Pysons

all together?
) . Thereis % of a chocolate bar left.

Kieron and Liam eat the remaining
chocolate between them.

What fraction of the whole chocolate bar
did they eat each?

1mark

people

2marks
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Each number in this sequence is three . Chen chooses a prime number.

times the number before it. He multiplies it by 10 and then rounds

P— it to the nearest hundred.
Complete the missing numbers.

His answer is 400.

Write all the possible prime numbers Chen
could have chosen.

2marks

294 882 7,938

Place these fractions in order, starting with

the smallest.
2 marks
2 2 15 2 7 10
3 6 9 3

smallest

1mark
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- Place these fractions in order, starting with . Nina took 274 hours to cycle from Lands
the smallest. End to John o’ Groats.
2 3 5 1 7 Mike took, 11.5 days to cycle from Lands End
to John o’ Groats.
3 4 18 2 12 They set off at the same time.
5 1 7 2 3 o = o s
i tJ 2 ts first?
18 2 2 3 2 o arrived at John o’ Groats firs
smallest . pmmmmmmmmmmmmmmm———mn—m—m—m——

1mark

. Class 6 pupils have sold friendship
bracelets for charity.

For each bracelet sold, 54p goes to charity.

They have raised £46.98 for charity.

How many bracelets have they sold?

1mark

87  bracelets

2marks








